
The lattices Jr([p−1]⊕ [q−1]), where Tpqr is a Dynkin diagram.
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r = n−2

r = 3

r = 3

r = 3

r = 4

r = 5

An r = n

(n=7)

Dn r = 2
(n=7)

E6 r = 2

E7 r = 2

E8 r = 2
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Jn(∅) = [n]
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J2([n− 3]⊕ [1])

= J([n− 2, 2]) = W (n)

Jn−2([1]⊕ [1])

= Jn−3([2, 2])
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J2([2]⊕ [2])

= J([3, 3])
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J3([2]⊕ [1])

= J2([3, 2]) = J(W (5))
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J2([3]⊕ [2])

= J([4, 3])

J3([3]⊕ [1]))

= J2([4, 2]) = J(W (6))

J4([2]⊕ [1]))

= J3([3, 2])) = J2(W (5))
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J2([4]⊕ [2])

= J([5, 3])

J3([4]⊕ [1])

= J2([5, 2]) = J(W (7))

J5([2]⊕ [1])

= J4([3, 2])) = J3(W (5))

Here, [n] is the chain of cardinality n, and [n,m] = [n] × [m]. The disjoint union
of posets is denoted by ⊕. If P is a poset, J(P ) is the lattice of all ideals of P .
Finally, W (n) = J([n− 2, 2]).
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